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1. The person with the white gold ring drinks dark lager.

2. The bitter drinker is not Dillon.

3. The person with the titanium ring is not Camille.

4. The one who is first in line wears the platinum ring.

5. Angie doesn't drink stout and isn't first in line.

6. Of Dillon and the pilsner drinker, one is sixth is line and the other is ninth is line.

7. The person with the silver ring is farther down the line than Camille.

8. The person with the platinum ring doesn't drink stout and is not Camille.

9. The one who is sixth in line is not Camille and doesn't wear the titanium ring.

10. The bitter drinker is closer to the front of the line than the person with the white gold ring.

11. Either the person with the titanium ring or the person with the white gold ring is Angie.
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